Enkopings BS
Oktobersilver 2008-10-27

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 14 210 62.50 Ola Sédergran - Torsten Runebert 9994 9996 Enkdpings BS
2 4 205 61.01 Wivi Smedberg - Karin Laurin 86203 23607 Enkdpings BS
3 10 198 58.93 Kjell Lindgren - Kjell Staffas 16259 34308 Enkdpings BS
4 6 193 57.44 Ryszard Sliwinski - Ylva Johansson 7639 11744 Gamla Uppsala BS - Enkdpings BS
4 7 193 57.44  Marcus Hjelte - Joakim Moller 84282 33431 Upsala BS - BK Svanslos
6 11 185 55.06 Krister Collberg - Sven-Erik-Albert Andersson 17982 3882 Akers BK
7 15 184 54.76  Mickey Maretics - Per Eriksson 50249 19493 Enkdpings BS
8 1 177 52.68 Christer Cedergren - Anders Lovling 4027 18166 KoOp En Sol - Bro-Balsta Bridgeklubb
9 3 168 50.00 Jonas Broberg - Hakan Lindh 83309 6055 Enkodpings BS
10 8 158 47.02 Ronny Erixon - Hans Asander 88442 2856 Enkdpings BS
11 13 149 44.35 Maud Lindblom - Lillemor Zander 90004 21772 Enkdpings BS
12 12 148 44.05 Jean Ericsson - Dorthy Edholm 80207 51976 Enkdpings BS
13 5 144 42.86 Sture Wiman - Barbro Skutnabba 80223 51971 Enkdpings BS
14 2 140 41.67 Urban Lindblom - Karin Fredman 92843 92840 Enkopings BS
15 9 131 38.99 Gert-Inge Oman - Marguerithe Lundberg 11721 50146 Enkopings BS
16 16 105 31.25 Sonja Mdller - Bjorn Méller 87675 87673 Enkdpings BS
1 4 D97 2 « K654 3 4 D763
Nord v 109 Ost vE875 Syd v Kn63
Ingen ¢ EK9 NS ¢ ED5S ov .-
#Kn9753 72 #KKn10652
4 EK63 4854 4E109 4832 4 K5 4 Knl104
v76532 ¥vEKn vDKn32 vK96 v 1074 vE9
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4 Kn102 4 DKn7 « E982
vKD84 v 104 v KD852
¢ 7432 *4 ¢E
+K8 #EKn108643 *E84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 3 INN+2 49 150 130 10| 8 9 6NO-3 4 A 150 140 00|14 5 5vV-2 a7 200 140 0.0
15 2 INN+2 3 150 13.0 10| 5 12 5¢ O-2 s A 100 120 20| 1 3 540-1 v4 100 10.0 4.0
5 12 3v S= oK 140 100 40|16 1 2NO+1 42 -150 100 40| 6 13 4v V-1 a7 100 10.0 4.0
8 9 2NN= 49 120 70 70|11 6 3NO= a2 -400 70 7.0| 8 11 4v V-1 a7 100 10.0 4.0
11 6 2NS= 46 120 70 7.0|15 2 3NO= 43 -400 70 7.0| 9 10 4y V+2 a7 -680 3.0 11.0
7 10 3NN-1 49 -50 3.0 11.0| 7 10 3NO+1 43 -430 20 12012 7 4y V+2 a7 -680 3.0 11.0
16 1 INN-1 49 -50 30 11.0|13 4 3NO+1 a2 -430 20 12015 4 4y V+2 &7 -680 3.0 11.0
13 4 3NN-2 a2 -100 0.0 140|14 3 3NO+1 &2 -430 20 12016 2 4y V+2 &7 -680 3.0 11.0
4 4 EKNn73 5 4 Kn9865 6 4 Kn2
Vast v EK2 Nord v KKn2 Ost v EK7
Alla + D92 NS ¢ 1075 ov + D1032
#D54 #Kn10 2K872
4 D854 41096 a- 4 K102 494 « E10853
vDKn9 ¢1087543 vED10765 ¢83 v D93 v Kn6542
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v6 v94 v 108
+ EK105 ¢ 6432 ¢ K87
#E108632 &D3 #E1094
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 3 5vN= v9 650 13.0 10| 1 5 3&#N+1 ¢9 130 120 20|15 6 3¢DV-1 ¢5 200 14.0 0.0
14 5 4v S+1 42 650 13.0 10| 9 12 44 N= vA 130 120 20| 1 5 3vyN= ¢ A 140 10.0 4.0
6 13 44 N= *T 620 50 9.0|13 8 3&#N+1 ¢9 130 120 20| 7 14 2v S+1 +¢K 140 10.0 4.0
8 11 44 N= v8 620 50 9.0|15 6 2&4N= *4 90 8.0 6.0|/10 11 24 S+1 +¢K 140 10.0 4.0
9 10 44 N= +5 620 50 90| 2 4 3v0O= &K -140 30 110 2 4 2¢ O-1 SA 100 6.0 8.0
12 7 44 N= a4 620 50 9.0| 7 14 34 0= &3 -140 3.0 11.0| 9 12 2¢ V= LY -90 3.0 11.0
15 4 44 N= v8 620 50 9.0|10 11 3v O= 3 -140 3.0 11.0|13 8 2¢ V= vA -90 3.0 11.0
16 2 44 N= v8 620 50 90|16 3 3vO= ¢A -140 3.0 11.0(16 3 INO+1 45 -120 0.0 14.0
7 4« Kn98 8 4106 9 « KD87
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*EK42 #E1076 *K7
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¢ EK +3 ¢ K42
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 12 74 S= 8 2210 140 00|14 9 34N+l +¢A 170 140 00| 2 8 4y N= +K 420 10.0 4.0
2 6 64N+l vA 1460 100 40| 1 7 2¢ V-3 aA 150 11.0 3.0| 3 7 4vyN= L) 420 10.0 4.0
3 5 64N+l vA 1460 100 40|16 4 44 0-3 v7 150 11.0 30| 4 6 4vy N= a2 420 10.0 4.0
10 13 64 N+1 vA 1460 100 40| 3 5 34 N= &K 140 70 7.0| 9 1 4vyN= a2 420 10.0 4.0
14 9 64S+1 vK 1390 6.0 80| 8 15 24 N+1 vA 140 70 7.0|{11 14 4vy N= +K 420 10.0 4.0
1 7 6vyDV-3 &K 800 40 10.0|11 12 3NV-1 +K 50 40 10012 13 3vy N+1 ¢K 170 3.0 11.0
8 15 44 N+3 &2 710 20 120| 2 6 34 N-1 vA -50 1.0 13.0|15 10 3v S+1 &7 170 3.0 11.0
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16 4 44 N+2 ©vA 680 00 140|10 13 34 N-1 *A -50 10 13.0(16 5 4v N-1 a2 -50 0.0 14.0
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Par Kontr ut Res Poang Par Kontr ut Res Poéng Par Kontr Ut Res Poéng
11 14 4v N= 8 620 140 00|10 2 7vS= «8 1510 140 00|16 6 64 V-2 oK 100 14.0 0.0
12 13 34 V-4 v4 400 120 20| 4 8 6vDS+1 43 1310 120 20| 3 9 4v0-1 &7 50 110 3.0
2 8 2vyS+2 4J 170 90 50| 1 11 6vS+1 «4J 1010 100 4.0|12 15 6NO-1 &7 50 11.0 3.0
3 7 3v S+l 2K 170 90 50| 3 9 6vS= 3 980 80 6.0]|13 14 3NV= oK -400 8.0 6.0
4 6 2v S+l #A 140 4.0 100| 5 7 4v S+3 7 510 50 90| 4 8 3NV+l K -430 4.0 10.0
9 1 3vyN= *8 140 4.0 10.0|12 15 4v S+3 44 510 50 90| 5 7 3NV+1l K -430 4.0 10.0
15 10 3v N= 3 140 40 10.0|13 14 4y S+1  &T 450 10 13.0(10 2 3NO+1 v6 -430 4.0 10.0
16 5 2v N= oA 110 0.0 140|16 6 5v S= &4 450 10 13.0| 1 11 4NDS-6 +A -1700 0.0 14.0
13 « KD42 14 «E102 15 # K8632
Nord v KKn54 Ost v EKn93 Syd v K105
Alla +E8 Ingen ¢ DKn52 NS 49653
«E104 #K3 3
4 EKN10953 4876 «KDKn9 48754 «ED105 «Kn74
v D96 vi72 v- v D842 vDKn62 v943
¢ Kn3 ¢ D10542 ¢ K84 97 ¢ K82 ¢ D107
*K8 *D72 #DKn8752 #964 #EK #Kn942
a- 463 49
vE1083 v K10765 vE87
¢ K976 ¢ E1063 ¢ EKn4
#Kn9653 «E10 #D108765
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
6 8 4vyS+2 4A 680 140 00| 6 8 4v S+l #K 450 130 10| 6 10 2¢ O-3 49 150 140 0.0
14 15 4y N+1 v2 650 120 20|14 15 4v S+1 «K 450 13.0 10|15 1 2NV-2 a2 100 120 2.0
16 7 264 V-2 v5 200 100 4.0| 2 12 4v S= oK 420 70 70| 7 9 2NV-1 3 50 9.0 5.0
4 10 INN+3  ¢J 180 70 70| 4 10 4v N= &4 420 70 7.0[16 8 2NO-1 &T 50 9.0 5.0
5 9 2NN+2 48 180 70 7.0|11 3 4v S= oK 420 70 7.0(12 4 INV= a2 -90 6.0 8.0
2 12 3NN-1 *2 -100 40 10013 1 4vS= oK 420 70 7.0(14 2 24 N-1 v8 -100 4.0 10.0
13 1 3NN-2 8 -200 20 120| 5 9 3vy N+l ¢9 170 20 120| 5 11 2#DS-1 v¥Q -200 20 12.0
11 3 6#N-3 8 -300 00 140|16 7 5vS-2 oK -100 0.0 140| 3 13 2NDV= &2 -490 0.0 14.0
16 « DKn98 17 « EKD10 18 «E94
Vast v2 Nord vK3 Ost v 6432
ov + K10863 Ingen ¢ E842 NS ¢E4
#EK10 #K42 #Kn643
& K764 41032 4962 a7 # 853 & KKn2
vD v EKKn109643 v 106 v E8752 v D95 v 87
¢ D72 ¢+ Kn ¢ Kn53 ¢ KD1097 ¢ KKn1052 ¢ 973
#Kn8732 #4 #87653 #Kn9 «D9 #EK1085
«E5 & Kn8543 «D1076
v 875 v DKn94 v EKKn10
¢ E954 +6 + D86
#D965 #ED10 *72
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
14 2 66 N= *4 920 140 0.0| 7 11 64 S= 8 980 140 0.0(15 3 3#DO-3 v¥K 500 140 0.0
6 10 5¢ N= vK 400 110 3.0| 1 2 44 N+2 K 480 60 80| 1 2 2vS+1 £Q 140 120 2.0
15 1 5¢ N= vA 400 110 3.0 4 14 44 N+2 K 480 6.0 80| 7 11 INS= *2 90 10.0 4.0
7 9 4¢vyDO-1 4A 200 80 60| 6 12 54 N+1 vA 480 60 80[16 9 INO-1 vA 50 8.0 6.0
511 4v0O-1 s A 100 6.0 80| 8 10 44 N+2 ¢K 480 60 80| 8 10 4v N-1 &K -100 50 9.0
3 13 5¢ N-1 vA -50 40 10.0|13 5 44 N+2 K 480 60 80(13 5 2vS-1 *Q -100 50 9.0
12 4 3vO= oA -140 20 12015 3 44 S+2 vT 480 60 80| 4 14 3v N-3 *A -300 20 12.0
16 8 4vO= ¢ A -620 00 14016 9 44 N+2 YA 480 60 80| 6 12 INN-4 9 -400 0.0 14.0
19 «K1073 20 « E97 21 «D3
Syd v 98753 Vast v 102 Nord v 1053
oV ¢ KKn7 Alla +1043 NS ¢ K54
*K #EKKn105 #ED1093
465 & DKn982 «D10532 4Kn86 4 Kn1097 &K
v4 v KKn10 v K7 vE4 vEKD74 v962
¢+ ED8652 494 ¢ EDKNn92 476 ¢3 ¢ Kn108762
#DKn84  #752 &7 #D98632 *K76 *Kn42
~E4 ~ K4 « E86542
v ED62 v DKn98653 vKn8
+103 ¢ K85 ¢ ED9
#E10963 *4 85
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
7 13 2¢DV-2 v9 500 140 00| 1 4 44DV-1 A 200 140 00|15 7 34S= vK 140 140 0.0
1 4 4vS+1  +A 450 80 6.0| 515 44 V-1 vT 100 110 30| 6 1 24S= vA 110 120 2.0
5 15 4v N+1 9 450 80 6.0| 8 12 44 V-1 &K 100 11.0 3.0|16 11 3v V-1 «Q 50 10.0 4.0
8 12 4v N+1 42 450 80 60| 2 3 3vS-1 &7 -100 80 60| 2 5 34S-1 *3 -100 6.0 8.0
9 11 4v S+1 46 450 80 6.0| 7 13 34 V= &K -140 50 90| 9 13 34 S-1 vA -100 6.0 8.0
14 6 4y N+1 46 450 80 6.0]| 9 11 34 V= &A -140 50 9.0|10 12 34 S-1 vA -100 6.0 8.0
2 3 4vN-= «Q 420 20 12014 6 34 V+l @A -170 20 12.0]| 8 14 3v V= +Q -140 20 12.0
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16 10 2v N+2 &2 170 0.0 16 10 4vDS-1 &5 -200 3 4 44DS-2 vA -500 0.0 14.0
4932 23 rY:] & KKn1084
v ED62 Syd v EDKn74 v E865
+ 1064 Alla ¢+ ED54 +E6
&ED8 D105 &D3
«D108765 & KKn4 & EK106 4932 4D962 &E73
v 1095 v K8 v1083 v K6 vyKKn2 »73
¢ Kn2 * K7 +97 + Kn10632 +108 ¢ Kn543
&Knl1l0 #K96542 &#KNn764 #»K32 &#Kn542 #K1086
sE & DKn754 a5
v Kn743 v 952 vD1094
+ ED9853 + K8 + KD972
&73 &E98 &E97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 12 3NN +3 »4 490 140 00| 4 5 3NS+1 &6 630 13.0 10| 4 5 4vy N= 3 420 11.0 3.0
2 5 5vyN+1 &K 480 120 20| 7 2 4ANS= s A 630 13.0 10| 7 2 4v¥y N= &6 420 11.0 3.0
6 1 5¢S= &6 400 100 40| 1 8 4vy N= 49 620 80 6.0[11 13 4v N= +3 420 11.0 3.0
3 4 3¢ S+2 &J 150 70 70| 3 6 4vy N= a2 620 80 6.0|16 12 4vy N= »6 420 11.0 3.0
8 14 3¢ S+2 &J 150 70 7.0[11 13 4vy N= &3 620 80 6.0|10 14 2NN +3 v7 210 6.0 8.0
9 13 2¢ S+2 &J 130 40 10.0|10 14 3NN= 49 600 40 100| 3 6 2NN+1 v7 150 4.0 10.0
15 7 4v S-1 &J -50 20 120| 9 15 4vy N-1 a2 -100 1.0 13.0( 9 15 4v N-1 v3 -50 20 12.0
16 11 24 O +2 A -170 0.0 14.0|16 12 3NS-1 &6 -100 1.0 130 1 8 3NS-2 &2 -100 0.0 14.0
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